M (128 302~1€ 4)

@
ol

E
ol
ulo
1K
1o
<

Mt

J0 —
MO O._
7 W
0 2
H =
I} ol
war
M -t
ol
A | <
=
m =
m_ i &0
M -,
ol =
ERRT ®0
M -
ioD 0
= | o Mﬁ
Mu_ =
=
3 | & 7
F — —~
m._..m w_w X o w._vux
IR=RR!! = y
U O
55 a3
N ="

il

-t

10

m_u.._
ol

Al
Ll

ol
4
Ar
od

& LICH

ior

0l
Rl
K
ol
<+
AT
or
o)
__o1ﬁ

oll
E
ulo

?

|M.n_

FAI HEAIS

IS
ol
RO

oll

i
-

4D

ol

AL,

—_
1o
pm
110

KJ
oln

ol
3

o
224

@ JtE0IA

SUW=AID gHELICH

an
-/

1




- =| |
LI L. |
— m H | < m 5 m L © m
N "m =) : = | 92 : | = : :
gom i e T el R el |BIR| R |
7 - L | N : — |~ | oo | =~ | : m
Wz ro| = AR O U= o % 40 Bz o | = ; o :
< || < D) i<k F| - Kr S I ) = K e | 2 >3 ¢ jofll :
= DN ST T B I S N Bl i V1 [ Bt m
% s 1Fla| M (R | iR |
el P EEE mpe %y |
P o | H N m P < m
= n R oo m m m
- < - m m m
= | _
m ke oo N m
NS m ofu m - m < m AT m
5B B AR
B w| =2 tw| ||y . o | &
—~ o QAW PSS sl ™ e T | K ) B o ;
or e R LN T O i L I Ry e o oll o 3ot m %
=z |® |2 g || |20 ™[> | D PSS o |2 P | @r | =02 i MH
m s | = "_ﬁ/u.ﬂ\_u_lﬂ._ "% S| - | KO K = | oK K =| X0 P K
2 BomgiN e T s e ] e | R | e [T | W
— o 0 Wl = o o | 2 o 1Ho R Lo m.: = el hu__. = Pk
— | = _._._u | ..lu — i oK alo M_”_ =T "
ol " N m T 8| = m =3
0O- o . _ o
© K s ol -
ot e i
I
=W M = | o =W =W = | M
Wigr kK| 3 R [ K |3 R O[O K|= R |0 K[I| R O[Ok [3T| R
M| = | 4D | W 4D = | 40| o {0 = | 4D | U0 {0 = | 4D | WO 4D = | <0 | W 4D
ior | ol ol wor | o wor | i o wor | o ol for | o o
N =< =< =< =< =%
= El 5 E E! &

L|CF.

AN

=

S gLk

=

A2
© 11 A] 9:00 ~ 9:30, 211A| 10:00 ~ 10:30

iT

: EBS 2TV, EBSE
T8 42 10A[0= ZOHAAT| 118 2|0 5B 51, =0 M0 Hi=A| 28

Hy e
X EBS =& MO|EO|A CHAIEZ|Z 7}t




20204 128 312(8) 31A|

18k H} H

= [ —

=

O







2020 12¢ 312(2) 44|

F1
ol
JJ
N
@)
THU
N O
O K
T o)
Or | &K
=S
ol =
oK | glo
oll | =F
S | of
i | i

. He 289718 ¢ 7TALA

olEol Tt £ QUTIQUTH)
A M= G

+

S

O

L

sl
s

|.

A
i

0y
(|

®)
1T

CF A90

A2
A2

H

SRR

=

(& orzHY YUTI

~d

10870 g2 @AM W 8712 7IHFN = O

R2

Njio
fal

5%

A=
EERE EH. O S0A



2SXRE 2ESE YR 20204E 12€ 31Y(2) 514
A S HH = S
[==1] RE4a Ba4 2SS e w
()
AT MM S S0t o

i ey el e

& FOE foiQe FUM(TT+ [1-CD) B4 - =)

AALAAAALAAAALL LA L L L L L L L R R L L R R R R R E R R RN RN NN RN YRR Y Y .
16 8 + 7 = 15 6 5 2 — 9= 13
4 9 13 6 7 14 5 9 11
18 9 9 6 5 8 13 8 12
9 4 13 16 9 7 7 6 13
11 3 9 12 7 18 9 6 17
9 4 5 10 2 14 6 8 15

AL RRRA LA LR R R R TR R R R R R R R R R E R R N R R R R RN,

12 7 5 8 12 9 3 8 10

4 9 13 6 9 15 7 9 16




SESH YW 20204 12 4(Y) 214

o] B W8 ChA| AT |me o v
NAEZI9 A8 &7| 25 2H |8

i8S 445

A0 =230 EBHotM
2= 10A] 3020 2sHOUAM BLIZ[2 S SLCE Odh 257t
SO =&5HA S L Ct
1. MBIO|2F 27} TIL}IZ|2 ot A|ZZ 2. 277t 2| XS AlZ=
AAO| LIEILHO] EML. AAG LIEILHY] EM| 2.
012N SR
_'::‘ 10 - /"';. .':%\ 10 2 /"';.
-9 3- -9 3-
--_.-/’ 8 q_\ --_,/’ 8 q_\
l"»jj'-, 6 5\\‘\ "',;;'7 6 5\\‘\
[3~5] Ct= AlAZ7F LIEfW= A2 M EAMR.
3, 4, 5.
12N
:;f 10 2 /'1‘.
q 30




6. A0 A 8 0| LA 32 oM.

VvV ©V

7. A0 mEE gl o] €2 5 ME2A K.

1422 {30 | 46|

8. 89FE 34 HOiX|= 3oz +F S0{=0t EN Q.

39 2

[9~10] = BIEEE 20EStD, A0 €52 0 MHEUZE OF SHM .

~N | OY | U
o
No
(@)
W
(@)
(@)
(@)
~J
(@)
O

’ 74|75(76 /3
82|83|84| 86|87/

70

9. 50 E A[XSHO] 2% FO{A Hl =0 HZIMO 2 O S L.

10. 555 E A[ZSr0] 5% FOjA 4l =0 GEMO = OF SHM L.




SHEXZE SESH YR 20204 1Y€ 42(Y) 314
m | [EH] 288 T8I R e g

P
@ "2I|RXHE D L8 AotRI| oz

> r2718xHE 91 e 220 Tt L.

1. "&7|2AHL 0 L= #2182 0|82 F

(1) mlo[2o| & Eol= 407t &1 ASLICH (O, X)

(2) ZOtHX|= FAMYst=s HO[A0A L2fS =2 FASLILE (O, X)

3) Hiol&a= FE, R2E, FEH 22 HE7[E FAHSE 04
E712XE FASLL. (0 X)

4. LHo|A E7|=2Xt7r ERet Wiz AKX d2sl SAICt.

@Zjol LIHLE 71U LIX] ol BT dRS HWEHEM Q.

e ( ) I, 87|2X1E 231 M&LCH
(CIAl) ME CIHZFALE GH2 ™, ENERE
Me RUNRRE & ™, SUNERE 4

e AlJOolH ALY ™, 8I7E2RE




-
T

[(BH] 12 T87[2xf I
"87|BA, BHET) ol

& Late| TR} E BHE0] EA|LL

1. AEX|E ez FHAUCH BY FA Q. 2. TS 7222 HUEX ¥F=s FO FAa.

3. OfiE® BOIE 712 HO SHFLICL 4. HICHEE £Z0] Zof SoFM .

2eE Lo

5. Y& FOILt2 BO|E AZCEZ FOol H0| 6 OFHEES AR H2|u FAHS FETHM IR

=
M 2 H0f O EE 2oz TS0 FLCt




(% OIE 2 Q9 OHE WAE)

of% g ga
2 =3 22 BotFSLLL,

Za¢ Hof
SHFEMR

otHES
nTIT=

%2 HoiF

2xH0] BLitt

ET| BoF
| 2% |7 =xt

.
3
y 1

@ werdiets eontina:
in Tidultery retrials




